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BACHELOR'S DEGREE PROGRAMME / 
CERTIFICATE PROGRAMME IN TEACHING OF 
PRIMARY SCHOOL MATHEMATICS (C.T.P.M.) 

Term-End Examination 

December, 2011 

(APPLICATION ORIENTED COURSE) 
AMT-01 : TEACHING OF PRIMARY SCHOOL 

MATHEMATICS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Question no. 1 is compulsory. Attempt any 8 questions 
from question 2 to question 10. 

1. 	(a) Mohan is a barbar. Give two mathematical 	4 
concepts from two distinct areas of 
mathematics that he would use in his work. 
Explain the reason for your choice. 

4:=1. 
(b) Renu argues that (i) We are using the ability 	4 

Lri to categorise all the time and (ii) being able 
to categorise is essential for counting. Do 
you agree with her ? Give reasons for your 
answer for each of the statements. 

(c) Rima says 'Every square is a rectangle' she 	4 

also says ' Every square is a parallelogram'. 
Do you agree with any or both these 
statements ? Justify your answer for each. 
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1 	21 	4 
(d) Suresh reads the mixed fraction 2-i as —

3 • 
7 

He says it can therefore be written as 
1 ' 

Do you agree with him ? 

Justify your answer and give one example 
of a mixed fraction and its equivalent. 

(e) Ram says that the volume of a jar measuring 	4 
one litre of liquid is also one litre. Do you 
agree with him ? Explain your answer with 
justification. 

2. (a) Give a series of three group activities that 	6 
can be done sequentially with class 2 
children to help them understand units and 
tens' and learn to use 2 digit numbers. 

(b) Give two difficulties children of class 5 
usually face in understanding negative 
numbers. For any one of these difficulties 
also give a strategy to help the children 
overcome it. 

3. (a) (i) 	Rahul said that most crucial aspect of 	2 
learning multiplication is to recite 
multiplication tables. Rajini said the 
most 	important 	aspect 	is 
understanding what multiplication is 
and knowing the meaning of how 
many times. Who do you think you 
would agree with and why ? 
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(ii) Why is the practice of skip counting 
	

2 
useful for understanding the meaning 
of multiplication of numbers ? 

	

(b) (i) 	3 teas and 6 vadas cost Rs 42. 5 teas 	2 

and 4 Vadas cost Rs 40. What is the 
price of 1 Vada ? 

	

(ii) Explain the steps followed and the 	4 

process used by you to solve the above 
problem. 

4. 	(a) There are four types of distinct subtraction 
	

6 
word problems viz, 

(i) Partitioning 

(ii) Reduction 

(iii) Comparison 

(iv) Complementary addition 

Give one word problem of subtraction for 
each of these categories. 

	

(b) (i) 	Explain the difference between 	2 
instant of time and time interval giving 
an example of each. 

(ii) Give an outdoor activity to help 	2 
children of class 5 understand instant 
of time. 
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5. 	(a) (i) 	Operations on time use the sexagesimal 	3 
system. Give one example each of the 
problems in volving subtraction and 
addition of time showing the error 
children make because of the 
sexagesimal system. 

(ii) How would you help children 
understand the sexagesimal system ? 
Explain using an example from any 
of the above two operations. 

(b) Rama says that all odd numbers are prime. 
What is the basis of her making this 
generalisation ? How would you convince 
her that her generalisation is not correct ? 

6. 	(a) What is a variable ? Give one example of a 
context where variable is used. How would 
you introduce the concept of variable to 
children of Class-6 ? 

(b) Show pictorially : 

(i) 1 of — 2
3 

3 	1 
(ii) —2 ± 4  

7. 	(a) (i) What are standard and non-standard 
units of measurement ? Explain using 
the example of measurement of area. 

3 

4 

6 

4 

3 
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(ii) How would you help childern of 	2 

Class-7 realise the need of having the 
standard units of measurement of 
area ? 

	

(b) Class-5 children were asked to solve the 	5 

problem : 
4.5 — 1.64 

The following four answers were received 
from children. 

(i) 	4.5 
—1.64 

2.86 

_„ 4.5 
—1.64 

2.94 

(iv) 

4. 5 
—1.64 

.81 

1.64 
—4.5 
11.9 

which one of these answers is correct and 
why? What are the kind of errors made in 
the remaining three responses ? 

8. (a) What does an algorithm mean ? Give an 
algorithm for division of one fraction 
number by another fraction number. 
Illustrate the working of algorithm giving 
two distinct examples. 

(b) Explain using an example of quadrilateral 
	4 

the difference between going from. 

(i) 
	Particular to general. 

Concrete to abstract. 
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(c) Give an example of mathematical 	2 
conjecture. When is a mathematical 
conjecture accepted ? 

9. 	(a) (i) 	Draw a number line and depict the 	1 
following numbers on it 
+3, —7, +5, —2. 

	

(ii) How can you use the number line to 	2 
show that +3 is more than —5. 

(b) What does S stands for in the sequence 	2 
ELPS? Give an example of S using the 
concept of an angle. 

(c) Give an example from daily life of the 	2 
statement 'Children learn by experiencing 
things'. 

(d) What is the difference between inductive 	3 
and deductive logic? Explain giving an 
example of each. 

10. Which of the statements below are correct ? 
Correct all the wrong statements and justify those 
that are correct. 2x5=10 
(a) (— 2) — (— 7) = — 5. 
(b) Errors made by children obstruct the flow 

of teaching in the classroom. 
(c) Children have their own strategies for 

solving problems. 
(d) Assessment begins after teaching learning 

process ends. It is a measure of the effort 
child has made. 

(e) The use of language to explain 
mathematical ideas leads to confusion and 
wastage of time. There is little role of 
language in learning mathematics. 
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